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Thank-you madam for this Amazing Class Session of today's.. /A, &
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My Answer for today's Homework are like-
1).Only I...
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Homework :
1.0nly 1

2. Either Or
3. TUPVRQS.
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Hw. 6. Only 1 (7) either or
Clock wise. TSQRVPU
THANK YOU MAAM &)
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Nikhil Singh 22 hours ago
The answer for the above guestions are
Syllogism-a,b, b, e

Puzzle-R,V,P U, T, S, Q
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H.W-1.only.2.Either or 3. TUPVRQS.Thank you maam.
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& Homework Answerly
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@ Ans 1 :- Only 1 Follow

@ Ans 2 - Either | or Il Follow E4..

Read more

> &F

+ View reply from Mahendras : Online Videos For Govt. Exams

REPLY


http://www.mahendras.org/

SBI CLERK 2022 / /mEmat 11:30 AM/ 0

©

shubhangi mishra 18 hours ago
H.w ans. Only 1
Either or
Puzzle - RVPUTSQ
Thank you ma'am
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1) Only 1
2) Either 1 or 2
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Seven persons are sitting in circular table
facing centre. Only one person sits
between R and P. T sits third to the right
of R. V sits third to the left of S who is
not an immediate neighbour of P. Q and
U are not immediate neighbours. U sits
second to the left of V.

HTd <gfod gaThR A U &g 1 AR
me’lw%%%l RIRPF AT Faa
TFaRT e T RF A T Y
TYTT G ST V, § F 97¢ & A T4TeT
9T 3378, St P FT freheder wsidt wigi 2
Q 3 U AFeaa A 7@ eI v, vEH
o & G T W AT 8
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16) Who sits immediate left of R?

R& &% a1 Hid o1 8?2

a) The one who sits immediaterightof U b)Q )T
d)The one who sits immediate right of P

e) None of those given as option

17) How many persons sits between U and V when counted to
the left of V?

VE aF ¥ i W UK V& Aeg fFaa safea 48 £2

a) One b) Two c) Three d) None e) More than three
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18) What is the position of Q with respect to P?

PF Hegsl A QFT TAT AT 87

a) Third to the left b) Third to the right c) Immediate left d) Second
to the right e) Fourth to the right

19) If all the persons are arranged alphabetical order starting from
P in clockwise direction, then how many persons remains
unchanged from his previous position (Excluding P)?

afg gaft safFaal #1 P& Y& & cfaromad feam A
quitelshd A eFaffyd fFar arar 8, oY fFasr safea srgeh
o RUfY (P#) Slg) ¥ uRafda wa 2

a) One b) Two c) Three d) More than three e) None
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\(éﬁf only conclusion | follows

(b) If only conclusion Il follows

(c) If either conclusion | or Il follows
(d) If neither conclusion | nor Il follows
(e) If both conclusion | and Il follow

6) Statements
Only a few well are Mats
All Pillows are Mats

Conclusions

I. All well Can Never be Pillow
II. At least Some Pillows are well

7) Statements
All Bamboo are Stick
No Bamboo is a Duster

Conclusions

I. No stick is a Duster

II. Some Stick are Duster
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\(‘Erﬁf only conclusion | follows

(b) If only conclusion Il follows

(c) If either conclusion | or Il follows
(d) If neither conclusion | nor Il follows
(e) If both conclusion | and Il follow

SBI CLERK 2022 / /mmmat 11:30 AM/

8) Statements

Only a few Bottles are Lamps

No Bottle is ship

Conclusions

I. Some Ship are definitely not Lamps
II. All Lamp can never be Ship

9) Statements
Only a few Boxes are Book

All Books are Pens
Conclusions
I[. Some Boxes are Pens

II. All Pen can never be Boxes
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"(a)if only conclusion I follows 21). Statement: P>E>Z; R<E
(b) If only conclusion Il follows

(c) If either conclusion | or Il follows
(d) If neither conclusion I nor Il follows I) R<P
(e) If both conclusion | and Il follow I1) P=R

Conclusion:

22). Statement: S<V>A>T>Y
Conclusion:

DY<V

IIA>S



http://www.mahendras.org/

SBI CLERK 2022 / /mmat 11:30 AM

“(a)If only conclusion I follows 23) Statement: K< Q<F=N;R2=>F
(b) If only conclusion Il follows

(c) If either conclusion | or Il follows
(d) If neither conclusion I nor Il follows I) N<K
(e) If both conclusion | and II follow II)R > Q

Conclusion:

24) Statement: E = B =

Conclusion:

I)K=>E
II)D > B
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Ten persons are sitting in two parallel rows such that J, K, L, M, and N are sitting in
Row 1,facing south and A, B, C, D, and E, are sitting in Row 2 facing north. J sits
second from the extreme end of the row. Only one person sits between D and the
one who faces J. Two persons sits between B and E. M sits second to the left of the
one who faces B. K sits third to the right of the one who faces A. L doesn’t faces B.

& Ifed &Y AR YiFdA A SH YRR a5 ¢ 99 J, K, L, M 31T N g 1 & fayor
FI IR IFAG NI IS e IR IFT2HA, B, C, D IR EFTTR A IR AT F & 4S5 &1 )
G & 3ifaer BN @ @Y FuTe W do1 §1 D 3R 1 A 3R Sy safea & v daw
U eqfad do1 81 B 3 £ & = gy safFa 43 81 M, B i 3R 37w eafaa F e @
Fgrrrrwﬁar%l K, A FY AR 37HE AfFT F ST & H FATT G AT 81 L T8

| t T W B.
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Ten persons are sitting in two
parallel rows such that J, K, L, M, and
N are sitting in Row 1,facing south
and A, B, C, D, and E, are sitting in
Row 2 facing north. J sits second
from the extreme end of the row.
Only one person sits between D and
the one who faces J. Two persons
sits between B and E. M sits second
to the left of the one who faces B. K
sits third to the right of the one who
faces A. L doesn’t faces B.
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26) Who sits immediate left of N?
N& 1 I &9 dor 872

a) M b) The one who faces C c) R
d) The one who faces D e) None of those
given as option

27) Who sits second to the left of the one who sits
opposite to L?

LF Aol 49 =afda & av § qE ¥ W &I
dar 87

a) B b) D c) Cd) E e) None of those given as option

28) Who among them sits at extreme end of the row?
38 ¥ FiT 9fFd & 3faxw sR W ot 87
a)N,Mb)B,Jc)L,Ad)B, N e)Both (c) and (d)
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29) What is the position J with respect to N?
N& Tegst & )T T F4T 872

a) Second to the left b) Immediate left

c) Immediate Right d) Second to the right
e) Third to the left

30) Four of the five among the following are similar in such a
way to form a group, which one of the following doesn’t

belong to the group?
ffaf@a & @ g 7 § 9% v ¥ 99 F @A

AT ¢, ﬁmﬁﬁa##mm#mﬁaﬁ%’?
a) N,D b) B, K c)J, A d) M, D
e)C L
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\(éﬁf only conclusion | follows

(b) If only conclusion Il follows

(c) If either conclusion | or Il follows
(d) If neither conclusion | nor Il follows
(e) If both conclusion | and Il follow

6) Statements
Only a few well are Mats
All Pillows are Mats

Conclusions

I. All well Can Never be Pillow
II. At least Some Pillows are well

7) Statements
All Bamboo are Stick
No Bamboo is a Duster

Conclusions

I. No stick is a Duster

II. Some Stick are Duster
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(b) If only conclusion Il follows

(c) If either conclusion | or Il follows
(d) If neither conclusion | nor Il follows
(e) If both conclusion | and Il follow

SBI CLERK 2022 / /mmmat 11:30 AM/

8) Statements

Only a few Bottles are Lamps

No Bottle is ship

Conclusions

I. Some Ship are definitely not Lamps
II. All Lamp can never be Ship

9) Statements
Only a few Boxes are Book

All Books are Pens
Conclusions
I[. Some Boxes are Pens

II. All Pen can never be Boxes
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There are eight people in the family. R is the daughter of P who is the Husband of Q. V is the daughter of
T. T is the brother in-law of S who is the only son of Q. W is the son of U. Q has only two children. U has
no siblings. There are three generation and three married couples in a family. IRAR & 3T a1 g1 R,
P#r ot St Q&1 ufer 81 V, T T §1 T, SFT WIem & S Q & SFaAlT I &1 W, U FT I g
OF Fad & 7= &1 U FT RS HAE-gg<T 7T & TF IRAR & i N 3 fe7 Rafea a2 &

How many male members are there in the family?
a) One

by Two

¢0 Three

d) Four

e) None of these

If W is married Y, then how S is related to Y?
a) Daughter in law

b) Mother-in law
o0 Fatherin law
d) Sister in law

e) Niece
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If only one meaningful word can be formed by using 1st,5th, 7th,9thand 12th letters only
once of the word “SUPERANNUATED?”, then which is the second letter from left of the
meaningful word? If no such word can be formed, then give ¢X° as the answer. If more
than one word can be formed, then give ‘Y’ as the answer

Ifg sg “SUPERANNUATED” & 9gd, 1d, 5d, 7d 99 31X 129 37&RY #T shad TH
R GANT FXF Fad UH FUYUT g AT ST HHAT §, aF HAYer asg F I @
GHU AR T AT 87 I AT A Ueq FAE TR ST WhaAT 7, o IW X I AR
TH § AHUF eg 9T Ahd 8, AW F T A 'Y'q
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In the given number 71832564395138, the position of first and second number are
Interchanged, similarly the position of third and fourth number are interchanged
and so on till the end. Then, which of the following number will be third to the left
of the number which is Fifth from the right end of the row?

dr 1§ WE&AT 71832564395138 # Ugell 3N @A HEAT F TIW H 39H A
geo f&ar srar 8, st yeR il 3R dldy gEar & TUe F 39w H o
T Sirar g 3t sHY avE 39 9% addr Wwar g1 Y, Aeef@a & @ sl &@
HEAT 39 §&4T & 9 ¥ ol geft st 9fda & g’ R @ qr=dl 872

a)

b)

O© N W

c)
d) 4
o None of these
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Point A is 10m to the north of point B. Point C is 4m to the East of point B. Point E
IS 6m to the east of point D which is 6m to the north of point C. Then what is the

shortest distance between C and E (in m)?
fag A g B & 35X & 10 #Hiex 81 g C, fag B & qd & 4 #iex 31 g E,
g D & qd & 6 #HleT &, &t g C & 3w & 6 #Alex 81 af C F fiw ga@
B gt 4T 87 3R § (TH H)?

a) 5V2

b) 62

c) 72

d) 36

e)None of these
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562 785 412 986 234

1. If the digits are written in descending order within the number, then which of the
following number will become the second-highest number? Ife 31hT S F&AT & AR

IS FA A fowr arar 8, @ Aeef@a § @ siq @ T qgEd 9w a3
gE&ar efr?
A.234 B.986 C.412 D.785 E.562

2. If the first digit of the lowest number is multiplied with the third digit of the second-
lowest number, then which of the following will be the resultant? If¢ T€@ S T&IT

%%ﬁmaﬁgﬂuﬁaﬁm%eﬁmm#wﬁmm% ar
ferfaf@a & & =t ar aRomr gem?

A.2 B.6 C.8 D.4 E.None of the above

3. If the position of first and last digits are interchanged within the number, then how many
numbers will be divisible by three? & T&dT & #HiaR Ugar 3R 3ifAA 3F &1 T 3T9H
H dea fear s, at fFad gegw da @ s gef?

A.l B.2 C3 D.4 E. None
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562 785 412 986 234

4. If in each number, the first digit is added to the last digit, then the results should
be subtracted from the second digit, then which of the following is the highest
number? If¢ Ycd® TEAT A Tgd 3iF & Afad 3F & ANST AT g, aF
m?@%ﬁ#mmw al T & ¥ 998 T8 qEAd

?

A.986 B.234 C.412 D.562 E.785

5. If all the numbers are written continuously from the left end then how many
digits are between the fifth digit from the right end and third digit from the left

end? If¢ Y TEIA3T H 90 B8R T dIMdR for@T a1 8, af g0 8 &
qrEd 3 AR 90 B8R § W 3w & T Fas 3w 52
A6 B4 C5 D8 E7
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Seven persons- P to V are leaving their vehicle in work-shop for service one
after other but not necessarily in the same order. T is the second person either
from first or last. Two persons are leaving between T and V. S is leaving the
vehicle adjacent to neither T nor V. The number of vehicles leaving before S is
same as after R. P leaves immediately before U who leaves before Q.

I S4TFd- P A V Tk & 916 Teh Q4T & fIT FTA-GhTeT A 391 dg BIS T8 8
oIfehet TR w1Et SHY HA A BT T AT Y Tg e AT AfAH A quur safFa g1 73R
v daaRasm@ I saaT3iRadvE smasTaea M SIS w@IRIS
¥ ggel ST a1 qTgaAT Y HEATR & 916 F AT g1 P, U & O Tgol AFerare
S Q ¥ 98 AFperar gl

;, e e
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Seven persons- P to V are leaving their vehicle in work-shop for service one
after other but not necessarily in the same order. T is the second person either
from first or last. Two persons are leaving between T and V. S is leaving the
vehicle adjacent to neither T nor V. The number of vehicles leaving before S is
same as after R. P leaves immediately before U who leaves before Q.
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6. Who among the following person is leaving the vehicle immediately
before P?

Afaf@a & ¥ FI PF SF Jgo I8 SIS T@T 87

A.The one who leaves two persons before Q

B.The one who leaves immediately after R

C.R D.U E.None of the above

7. Which of the following statement is/are true?
ffaf@a & @ i avd Fa9 TcT /87

A.P leaves three persons before Q B.R leaves immediately after T
C.Only one person leaves between Pand T

D.No one leaves between S and P

E.None of these
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8. If all the persons are arranged in alphabetical order
from the person who is leaving the vehicle at first,
then how many persons are unchanged their position?

Ife g3t safFaal 1 ggor a8 S arel sgfad
q qUiTeTshd & <gafedd fhar smar €, ar frdaa
safeaat 1 Rufy sraiafda @ &2

A.No one B.1 C.2 D.3 E.More than Three

9. How many persons are leaving between T and Q?

T3 Q& AT fhda IFd 5T W@ 872

A.Five B.Four C.Three D.Two E.None of these
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Certain numbers of persons are sitting in a linear row facing north. Only three persons
sit between V and T who sits left of V. O is an immediate neighbour of N and sits third
from one of the ends. X sits third to the left of S. Five persons sit between V and P who
sits at the extreme end. The number of persons sits to the left of T is one more than the
number of persons sits to the right of N. Six persons sit between O and X. Seven persons
are sitting between S and V.

U Y& 9fFd A F AfFd 30 A I AT FIE 4381 V AR T & AT Fael i
T E STvFadderdl o, N F1 Feaw = § 3k R v R & Y EE
QW daTRI X, s%wﬁmvwwﬁa%l viiltpFAiauacaFads g s faA
BRI 43T T & TRt 3R 8 FfFaat i AT N & it XSS AfFaar fraear d
TS AF I 0 XFfasgaFads gl siRveEfaaaaFads g

!, L e


http://www.mahendras.org/

SBI CLERK 2022 / /mmat 11:30 AM/

Certain numbers of persons are sitting in a linear row facing north. Only three persons
sit between V and T who sits left of V. O is an immediate neighbour of N and sits third
from one of the ends. X sits third to the left of S. Five persons sit between V and P who
sits at the extreme end. The number of persons sits to the left of T is one more than the
number of persons sits to the right of N. Six persons sit between O and X. Seven persons
are sitting between S and V.
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13) Who among the following person sits immediate left of O?
@ d 7 @ #id 0oF &+ I do1 82

a) One who sits second to the left of T b) S

c) One who exactly sits betweenVand X d) X

e) One who sits third to the right of S

14) How many seats are placed in the‘linear Row?
fAIT O # fradr @i @ a8 872
a) 20 b) 18 c) 21 d) 23 e) None of these

15) Who among the following person sits fourth to the

right of T? ’ ‘

frafaf@a & 9 i 74 ¥ & Tl Tae W ot
g7

a) One who exactly sits between Pand X b) X

c) One who sits fifth to the left of X d) O

e) None of these
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16) What is the position of S respect to N?

N& Tegst H SHT TURT FAT 87

a) Fourth to the right b) Fifth to the left

c) Third to the left d) Second to the left
e) None of these

17) How many seats are placed between S and T?

saﬁTTa:m'zrﬁaT-lFﬁFh‘Ew"rﬂ?%‘?

a)10 b)11 ¢)9 d)12 e)None of these
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A%2Z0XB8HI#F5M+LV40@QS73*U
E&1P

18. Which of the following element is exactly between®+” and “Q"?
farfaf@a & @ #ia a1 acg “+” 3R ‘@’ F & & 7 g7
AV B.@ CO D4 €EL

19. How many such vowels are there each of which is immediately
followed by symbols?

W fFaa TR & O @ 93+ & OF 9 vdis 87

A.None B.One C.Two D.Three E.More than three
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A%2Z0OXB8HI#F5M+LV40@QS73*U
E&1P

20. Four of the following five are alike in a certain way and hence
form a group. Which one of the following that does not belong to
the group?

ﬁmﬁﬁam##wwmaﬂ##m%sﬁ?
ST T A 9o1d 81 fArafaf@a # @ sl ar @ @
Haftd gt &7

A.A20 B.H#5 C.4@S D.7*& E.ZX8

21. Which of the following element is fourth to the left of the
fourteenth element from the right end? fAFafaf@d & & Sl a1

dcd g BR § dlegd dca & ™ =T @7
A.F B.+ C.5 D.M EV
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22. How many pairs of letters are there in the word “MONITOR” each of which
has as many letters between them in the word as in the English alphabetical
series (both forward and backward direction)?

ASE “MONITOR” # 3T & W et s 8, e @ vds & o=
3da & 3R § foras & 33 quieTem sf@ar (3mar 3k fiY =
faemait #) 7 &7

A.l B.2 C3 D.4 E.None of these
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Seven persons—P,Q, R, S, T, U, and V are sitting in a row facing north but not
necessarily in the same order. Neither R nor S sits adjacent to T. P sits third from
the left end. A person sitting adjacent to P sits four places away from U. Neither P
nor U sits adjacent to R, who sits three places away from S. Q sits two places left of
T.

HTd SqTFT - P, Q, R, S, T, U AR V T 9fFd 3 37X 1 3 7T FIh 4 8 o feet
TS AR P S FA NG TARAE S, TH FHeA 4T P AT IR T AW

T W ASTE| P & e 43T v sAfFd U @ IR T T AT 1 A AT P AT U,
R & 3THeoT 9518, A S A lled TATA I BT RN Q, TF a1 Q)Y ¥ W AT B
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Seven persons—P,Q, R, S, T, U, and V are sitting in a row facing north but not
necessarily in the same order. Neither R nor S sits adjacent to T. P sits third from
the left end. A person sitting adjacent to P sits four places away from U. Neither P
nor U sits adjacent to R, who sits three places away from S. Q sits two places left of

T.
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23) The number of persons sitting to the left of V is one
more than the number of persons to the right of ?
VE a8 AR 85 afFaar i1 e & ars
MY &S IFfFTAT Fr g&aT d ' HAF g2

a) Pb) Tc) Ud)S e) None of these

24) What is the position of S with respect to Q?

Q& Tegs H SHT TART F4T g7

a) Second to the right b) Immediate left c) Third to the
[

d) Immediate right e) None of these.

25) How many persons are sitting between V and S?
V3R s& #LT fhas afedad &8 §7

a) As many as between P and U. b) Three c) As many as
to the right of U. d) Two e) Either Cor D
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26) Find the odd one out?
favar 947
a) RP b) SU c) SV d) QT e) PU

27) Which of the following statement is/are not true?
farfaf@a & @ sia aUd a9 T a8 87
I. Rsits at the left end of the row.

Il. Three persons are sitting between S and T.

lll. Two persons are sitting between person
immediate right of U and Q.

a) Both Il and lll b) Only Il c) Only |

d) Both I and Il e) None of these
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ght peopleare L, M, N, O, P, Q, R, and S celebrate their birthday on different dates of the differen‘ l
month. The birthday of each person is on either 18th or 25th of any month among August, September,
October, and November but not necessarily in the same order. No two persons celebrate their birthday
on the same date of the same month. N celebrates his birthday on an even numbered date of the
month which has an even number of days. The number of persons celebrates birthday before S is one
more than the number of persons celebrates birthday after M, who celebrates birthday on one of the
months after S.O celebrates birthday immediately before R.Three persons celebrate the birthday
between P and M, both of them not celebrate their birthday on November. L celebrates his birthday on
18th August.

IS TFAL, M, N, O, P, Q, R, 31T S ITAIN-3TeTT AT hT ITAIN-3Tel9T TRIET U 3TYAT SieATaed HeATd
8 | T3 AP T TRt e, AR, 3rarga? 3R daey & i el oft #dher $r 18 a1 25 i@
) g1 & Af¥eT ol 1t o 3t 6ot o @Y1 18 3N 2 T vk & w@A Y v @ AR Y I
H AT G HeAT 5| N 39T SAeH et 3H ALl Y HH HEAT ATell AR Y HATAT § Foraat feait
HEAT A Al 1 S A Ugo STeATET AT ITo STl hT HEAT, M &F 91 SToH ST HAT dTe
A fFaal Y T€AT/ TF AHTAF 8, ST SO TARTR & 8F T e (&1 A & fFAN THF AR H
STeA Tl HATAT B ;mmammmﬁgmm%,mamﬁmmw
HATA| L 18 319TEd 1 HIAT iAol AATAT 2| A
E{z:’oo :

-
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Eight people are L, M, N, O, P, Q, R, and S celebrate their birthday on different dates of the different
month. The birthday of each person is on either 18th or 25th of any month among August, September,
October, and November but not necessarily in the same order. No two persons celebrate their birthday
on the same date of the same month. N celebrates his birthday on an even numbered date of the
month which has an even number of days. The number of persons celebrates birthday before S is one
more than the number of persons celebrates birthday after M, who celebrates birthday on one of the
months after S.O celebrates birthday immediately before R.Three persons celebrate the birthday
between P and M, both of them not celebrate their birthday on November. L celebrates his birthday on
18th August.
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-l 28. Who among the following person celebrates birthday on August 25th?

““lﬁmﬁﬁaﬁ#mzsmaﬁamﬁwm%?

August(31) B.The one who celebrates immediately before N. C.N
-_l E.None of the above

September(30)

_-l 29. Four of the following are alike in a certain way and hence form a group.
-““| Who among the following one does not belong to the group? fa&ifaf@d &
__ﬁwwﬁﬂa%ﬁﬁgﬂm%aﬁ;ﬁ@ngwm%l
A fed THE & wafad

A.P B.S C.The one who celebrates on October 25th D.R
E.The one who celebrates on October 18th

30. Which of the following statement is/are true?
fmfef@a & ¥ sla aUd sy a7 87

A.L celebrates hisbirthday on September

B.Two persons celebratethe birthday between N and M
C.R celebrates birthday on the same date of N

D.S celebrates birthday immediately after P

E.None of these
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— e ]
Month/Date 31. On which of the following date does M celebrates his
-_l ﬁmﬁ;@?—rﬁ#mmﬁmmaﬂqﬁﬁ
September(30) S Helldl g7

-_-I A.October 25th B.October 18th C.August

GO
__l D.September 18th  E.November 18th

32. As many persons celebrates birthday between P and
Q is same as between __and _ ?

PR QF fiw oax safda swafRe 7= § 3a«
& _ 3N F 6w Aaa 2
A.N, LB.S, O C.O, M D.None of these E.S, Q
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a) If only conclusion | follows.

b) If only conclusion Il follows.

c) If either conclusion | or Il follows.

d) If neither conclusion | nor Il follows.
e) If both conclusions | and Il follows.

33. Statements:
C2D<F<E,M2F<L;D>N=20
Conclusions: I).C>NIl). M >0

34. Statements: B2ZA>C=0; A<L2M;CsN<Z
Conclusions: 1).B<MIl).0<Z

35.Statements: Z<O>P2K<N; KsL<M<(C;B=2Q
< O Conclusions: 1).B>PII).C=2P

36. Statements K>02L2A<CN2O<sW<V; X>Y
< A Conclusions: 1). V>AIl).V=A
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There are eight persons namely M, N, P, Q, R, S, T and U sitting in a circular table but not
necessarily in same order. All of them face towards the center. They are sitting in such a way
that each person maintains equal distance from immediate neighbors. There are two persons
sitting between M and P. N sits third to the left of U. Only one person sits between N and R.
There are two persons sit between S and Q. U is not an immediate neighbor of R. T sits
immediate left of R. M is immediate neighbor of S. P is not an immediate neighbor of Q. Neither
N nor T sits opposite of M.

375 SIfFT YT M, N, P, Q, R, S, T 3R U T TATHR AT W 43 8 aAfdhet ST o161 foh SHI HA A
ﬁlmaaﬁwwaafrm%lagamﬂﬁ%ﬁ:mwﬁ?rﬁmmﬁmﬁ
AT @A I M 3R P HF AT AT IS EIN, UF TT I N T W ISR N3 RF AT
mw—qﬁ‘cr*q‘ar%lssﬁtqé?aﬁira—qﬁ-?rﬁ%%l U, R &T fdsredd qsiiY A1 &1 T dchrer
dor ggﬁl M, S FT [AFecdT T21HT g1 P, Q FT AhecadA TS AT 81 AN IRAHNT, M &
Rada |

F=156

e -
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There are eight persons namely M, N, P, Q, R, S, T and U sitting in a circular table but not
necessarily in same order. All of them face towards the center. They are sitting in such a way
that each person maintains equal distance from immediate neighbors. There are two persons
sitting between M and P. N sits third to the left of U. Only one person sits between N and R.
There are two persons sit between S and Q. U is not an immediate neighbor of R. T sits

immediate left of R. M is immediate neighbor of S. P is not an immediate neighbor of Q. Neither
N nor T sits opposite of M.
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37. How many persons are sitting between S and R
when counted from left of S? S& a1 ¥ [{Aleda WX

s 3R RF AT frda afea ¥ &2

A.2 B.3 C.5 D.6 E.None of these

38. Who. sits second to the left of U?
UF a0 & qEY T 9T FieT doT 87
A.M B.T C.N D.S E.None of these

39. Who sits opposite of P? P & faaila &l dor 82
A.R B.U C.N D.Q E.None of these

40. Who sits second to the right of Q? Q & o
?,'grt YA 9T HleT o7 872

B.M (off )\ D.P E.None of these
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